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s=lg JS a8 (JLy) a=lg cuoud  |slass ULS 1ol 233
«éa | 142,400,000 35,600,000 4 T9.9 T5 dual o0 S5 Sy iy 1
s 3,240,000 270,000 12 T5 &S 2
s 3,360,000 280,000 12 TO <) 3
s 720,000 30,000 24 T5 4l 4
as 720,000 30,000 24 TQ 4dl 5
s 3,600,000 60,000 60 12 o 64 9 & 6
S 1,600,000 40,000 40 8 o sfs 9 & 7
s 2,000,000 50,000 40 10 o84 5 & 8

142,400,000 J& J2 & o>
15,240,000 J& wlaleio glo o>
157,640,000 Jw laleio g Jy @lo o>

s=lg JS caous (Jby) solg cuoyd  [slass R WLy
s 96,000,000 48,000,000 2 180 [osfius Gl 4 jlan sk ¥ oh G 1

s=lg JS o8 (JLy) s=lg cunud | slass o 233

8w | 429,000,000 429,000,000 1 Jals clilaia + (il s 1

s=lg JS Caous (Jby) solg cuoyd  [slass 19990 WLy

s&iws | 511,000,000 511,000,000 1 6.1 oot Q) L gisa 1

s=lg JS o8 (JLy) a=lg cuoud  |slas Olesd gbls 23

s&iua [ 237,000,000 237,000,000 1 [SUs+kw 7/5 W& gl b gl gl g s 1

s=lg JS a8 (JLy) a=lg cuoud  |slass Sl 23
S 21,120,000 480,000 44 | | o2 A | B s 10 desSoanw [ 1
A 2,200,000 100,000 22 | 02A | 052 18 6 JuuSy e 2
s 920,000 230,000 Qe ya S S 3
s 1,040,000 260,000 (28550) 16 L5 g 4
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s 300,000 50,000 6 N6 S 5
s 1,680,000 70,000 24 N 10 S 6
s 35,000,000 35,000,000 1 Blis 4 aijg + Ly i 7
s 18,000,000 18,000,000 1 18 i 4 885 Asd 8
s 13,600,000 1,700,000 8 O e 9
s 140,000 70,000 2 FUE Sy S 10
«ld [ 28,000,000 2,000,000 14 77 o550 518 433 11
Cuad ()93 12
122,000,000 Jw JUlo pllSl &l go>
s=lg JS a8 (JLy) a>lg cuous  |slass 1l ol 233
s 1650000 550,000 3 A + Gled )8 Gl 1
S 27,000,000 27,000,000 1 S e Jliags 341 ) 2
s 4500000 2,250,000 2 ol 3
Wiy 380,000 380,000 1 il 20 (54 a8 Sy 4
s 600,000 150,000 4 JiS gl 5 S
A 410,000 410,000 1 S Ak e 6
A 480,000 60,000 8 el Al Gual g 12 0 44 9 7 7
iy 500,000 250,000 2 Sl 5 8
s 7,400,000 7,400,000 1 BEECETY 9
AL 2,200,000 1,100,000 2 Lo - Sfiudly O sl 10
AL 2,200,000 2,200,000 1 1810 ws) 11
i 630,000 210,000 3 b ash A 12
4dls 190,000 190,000 1 SEl gk A 13
s 440,000 110,000 4 iy oS By 14
s 1,160,000 290,000 4 Sigob gl ) 15
(s 4,800,000 4,800,000 1 I 5y gy 16
Ay 4,200,000 4,200,000 1 Gl g o s 17
s 700,000 700,000 1 o - s 3 s 18
e 800,000 400,000 2 i gy K3 s 19
8w | 168,000,000 168,000,000 1 80 Al 93 i Ok (2 5ll 0 20
sse 1,800,000 1,800,000 1 5.5 salS (B 21
s 46,000,000 46,000,000 1 CAL 4 S (g e 2 ¢plS il 22
s 7,400,000 3,700,000 2 S 0 i) - lald didh b 23
s 1,800,000 450,000 4 LED 16 W (Lisi g1 24

22 313 : dxiuo




s 120000 30,000 4 oSG Gual g - 6y 25
AL 3,250,000 325,000 10 Sfiadly 3 @s) 26
s 0 70,000 0 ALl Ly Al 27
s 5,000,000 5,000,000 1 O i Sl s 28
s 10,820,000 5,410,000 2 Gl Gl galisy 29
s 8,940,000 4,470,000 2 @il Gl a8 30
e 1,140,000 570,000 2 g+ i 31
Ails 480,000 80,000 6 cn g 32
s=lg JS aoud (JLy) solg cunyd |slass Jaus o SRy
i 49,680,000 2,760,000 18 S 5 Jg) s 33
S 2,080,000 80,000 26 T35 6 px 34
Adls 20,750,000 4,150,000 5 o i = 75 ana 35
Jia 2,100,000 150,000 14 (58 asw g ) 4*1 Jiks 36
S 15,000,000 15,000,000 1 Ok = 4 ps 37
s=lg JS a8 (Jby) s=lg cunsd | slass ylssliwl polle LY
Wiy 600,000 600,000 1 3 i) adle 38
s 9,900,000 3,300,000 3 S O 39
iy 9,000,000 9,000,000 1| | AusE+ a8 + gisa| Blis sy | 40
s 22,000,000 22,000,000 1 84 43j5 S Blia 41
Ciad ¢y g 0 42
G ()9 0 43

446,100,000 Jk sjll oy pUsI 2l 2o

1,998,740,000 J; 8895 2 cuud JolS gos>
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s=>lg JS cuaud (Jby) s=lg s |slsss ULS obs a3
<éa | 178,000,000 35,600,000 5 TO 5 T5 dual 0 S5 Salia ) 1
s 4,320,000 270,000 16 T5 <) 2
s 4,480,000 280,000 16 TO <) 3
s 960,000 30,000 32 T5 4l 4
s 960,000 30,000 32 T9 4ddl 5
as 4,200,000 60,000 70 12 s 40 52 6
X 1,600,000 40,000 40 8 o044 5 &8 7
S 2,000,000 50,000 40 10 5062 9 7 8
178,000,000 J& J2y & o>
18,520,000 Jky Wlaleio 2o oo
196,520,000 J wlaleio g Juy glo ez
s=lg JS aoud (JLy) s=lg caoud  |slass s LY
s | 144,000,000 48,000,000 3 | 80 [susfius Gl + s sk N 1
s=lg JS a8 (JLy) a=lg cuoud  |slas o= 23
s&iua | 429,000,000 429,000,000 1 Juls ciblaia 4 il Gals 1
s=lg JS coud (JLy) 3=lg coad  [slaws 19590 Ly,
o\iws | 511,000,000 511,000,000 1 6.1 (o)l S Jsisa 1
s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls 23
s&iws | 237,000,000 237,000,000 17 PSS + kw 7/5 Ll gl pa b gl clase sl 1
s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl 23
S 26,880,000 480,000 56 | |02A | b s G 10 S ap |1
S 2,800,000 100,000 28 | 028 |85 I8 6 JuuSy ppna 2
o 920,000 230,000 Qo8 pa ST Sl 3
s 1,040,000 260,000 (Usisa) 16 Lsisa g 4
s 300,000 50,000 SN B 6 S 5

22 )15 : dxdpo




s 1,680,000 70,000 24 N g 10 8 6
s 35,000,000 35,000,000 1 Blia + 435 + Ly Ligs 7
s 18,000,000 18,000,000 1 18 Sl 4 2 85 8 ast 8
s 13,600,000 1,700,000 8 G Jusy 9
s 140,000 70,000 2 s Jusq (S 10
<@ | 28,000,000 2,000,000 14 77 o I8 455 g 11
Gad ()94 12
128,360,000 Jk JBs sl gl go>
s=lg JS a8 (JLy) a=lg cuoud  |slass wjlail ol 833
e 1650000 550,000 3 A+ Glgd o 8 il 1
s 27,000,000 27,000,000 1 S aae Sl 3l ) 2
(S 4500000 2,250,000 2 ol il 3
Ay 380,000 380,000 1 il 20 (52 a8 Gy 4
0 600,000 150,000 4 S Jg) 5 oy S
s 410,000 410,000 1 Sy Ak 6
o 480,000 60,000 8 Cuad 4y Cuai Cyga 12 o4e 9 g 7
. 500,000 250,000 2 SSlsu s 8
o 7,400,000 7,400,000 1 BERCEIEY 9
il 2,200,000 1,100,000 2 Lo - Sty 9 i) 10
AL 2,200,000 2,200,000 1 ¢t 10 s 11
S 630,000 210,000 3 s sk A 12
4dla 190,000 190,000 1 Sy paghA 13
s 440,000 110,000 4 iy o8 B 14
S 1,160,000 290,000 4 Sigob gl ) 15
L 4,800,000 4,800,000 1 S g iy ) g 16
iy 4,200,000 4,200,000 1 Gl g g Cuad 17
s 700,000 700,000 1 s - il 3 s 18
s 800,000 400,000 2 Jadsi oS3 i 19
s83us | 168,000,000 168,000,000 1 80 493 daxi (i b (g 95l 50 20
s 1,800,000 1,800,000 1 s i salS b 21
sse 46,000,000 46,000,000 1 AL+ L s e 2 cplS pulid 22
s 11,100,000 3,700,000 3 D 80 i) - bl digh b 23
s 2,250,000 450,000 5 LED 16 W lsi &l 24
s 180000 30,000 6 2SS ual g - 6 @&y 25
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REUR 3,900,000 325,000 12 Sl 3 el 26
s 0 70,000 0 Adla) Ly a) 27
s 5,000,000 5,000,000 1 O G (Sl (las 28
s 16,230,000 5,410,000 3 iy Gl gilisen 29
ac 13,410,000 4,470,000 3 il Gils Ja8 30
s 1,710,000 570,000 3 s+ QB 31
Adla 480,000 80,000 6 AW 32
s>lg JS caous (Jby) s=lg cuoyd  [slass JaunS o WLy
Sa 49,680,000 2,760,000 18 S R Jol s 33
i 2,080,000 80,000 26 £.3) 6 ps 34
4l | 20,750,000 4,150,000 5 oua alali = 75 A 35
Ha 2,100,000 150,000 14 (S pr g ) 4%1 Jis 36
s 15,000,000 15,000,000 1 na = 4 37
s=lg JS a8 (JLy) a>lg cuoud  |slass ylssliwl polle 23
4y 600,000 600,000 1 L] pdle 38
s 9,900,000 3,300,000 3 )92 CAL 39
Ay 9,000,000 9,000,000 1 | AosS + 2858 + Jgise | Bis sy | 40
ase 22,000,000 22,000,000 1 84 4djg 2 \s Blia 41
a9 0 42
a9 0 43
461,410,000 Jk s jlssl oy pUSI Lo go=
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s=lg JS caoud (JLy) s=lg cuoud  |slass ULS b (W TRy
«ia | 213,600,000 35,600,000 6 TO 5 T5 Jual 53 S5 Sabia 1
s 5,400,000 270,000 20 T5 <) 2
s 5,600,000 280,000 20 T <) 3
s 1,200,000 30,000 40 T5 il 4
s 1,200,000 30,000 40 TO 4wl 5
s 4,800,000 60,000 80 12 o 44 3 6
s 1,400,000 40,000 35 8 o g 5 & 7
S 2,500,000 50,000 50 10 808+ 5 &= 8
213,600,000 J) J2y & o>
22,100,000 J&; wlaleio gl o>
235,700,000 Jk wlaleio g Juy glo ez
s=lg JS aoud (JLy) s=lg caoud  |slass s LY
s | 192,000,000 48,000,000 4 | 80 [susius G + s s N8 cu 1
s=lg JS a8 (JLy) a=lg cuoud  |slas o= 233
o&iua [ 429,000,000 429,000,000 1 Juls ciblaia 4 il Gals 1
s=lg JS coud (JLy) 3=lg coad  [slaws 19590 Ly,
o&iws | 511,000,000 511,000,000 1 6.1 b)) JE sisa 1
s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls 233
s&iws | 237,000,000 237,000,000 17 PSS + kw 7/5 Ll gl pa b gl clase sl 1
s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl 233
Sa 32,640,000 480,000 68 | | oA | Db s G 10 JuSo ppw |
Ha 3,400,000 100,000 34 | 22 A |85 818 6 Jeusyy pi 2
o 920,000 230,000 Qo8 pa ST Sl 3
s 1,040,000 260,000 (o$554) 16 Lsisa g 4
s 300,000 50,000 N6 S 5
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s 1,680,000 70,000 24 Mg 10 28 6
s 35,000,000 35,000,000 1 Blia + 435 + Ly Ligs 7
s 18,000,000 18,000,000 1 18 Sl 4 2 85 8 ast 8
s 13,600,000 1,700,000 8 G Sy e 9
s 140,000 70,000 2 s Jusq (S 10
<& | 28,000,000 2,000,000 14 77 o308 4d 3y 1
Cah ) 9y 12
134,720,000 Jky JBs sl gl go>
s=lg JS a8 (JLy) a=lg cuoud  |slass 1l ol 833
s 1650000 550,000 3 A + Glgd B Gl 1
S 27,000,000 27,000,000 1 S aae Sl 3l ) 2
S 4500000 2,250,000 2 ol AL 3
sy 380,000 380,000 1 il 20 (548 Sy 4
s 600,000 150,000 4 S Jg) 5 oy S
s 410,000 410,000 1 Sy Ak 6
A 480,000 60,000 8 el Al ual G 12 544 9 & 7
Ay 500,000 250,000 2 Sy 5 8
o 7,400,000 7,400,000 1 3 4ma 9
Adld 2,200,000 1,100,000 2 L - SBudly 9 sl 10
AL 2,200,000 2,200,000 1 ¢t 10 s 11
S 630,000 210,000 3 s pash A 12
N 190,000 190,000 1 Sy ash A 13
s 440,000 110,000 4 iy o8 B 14
S 1,160,000 290,000 4 Sigob gl ) 15
s 4,800,000 4,800,000 1 A gy i 16
Ay 4,200,000 4,200,000 1 g g g Supand 17
s 700,000 700,000 1 o - Ghss 3 s 18
s 800,000 400,000 2 Jadsi oS3 i 19
8w | 168,000,000 168,000,000 1 80 4l ga daxi Ol b (o oSualli i 2 20
s 1,800,000 1,800,000 1 s FamalS G 21
sse 46,000,000 46,000,000 1 AL+ L s e 2 cplS pulid 22
e 14,800,000 3,700,000 4 D 58S Jid - AL Akl 23
I 2,700,000 450,000 6 LED 16 W lisi &) 24
S 240000 30,000 8 5SS - 6 & 25
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AL 3,900,000 325,000 12 Seiadly 3 ) 26
s 0 70,000 0 Adla) Ly a) 27
s 5,000,000 5,000,000 1 O G SilSaa s 28
s 21,640,000 5,410,000 4 iy Gl gilisen 29
ac 17,880,000 4,470,000 4 il Gils Ja8 30
s 2,280,000 570,000 4 S PYRTIg 31
Adla 480,000 80,000 6 AW 32
s=lg JS o (JLy) s=lg cunud | slass Jas o )
A 66,240,000 2,760,000 24 S5 58 gl 33
s 2,400,000 80,000 30 £3) 6 paw 34
4l | 20,750,000 4,150,000 5 ot ol - 75 and 35
S 2,700,000 150,000 18 (S am i) 4*1 Jils 36
s 15,000,000 15,000,000 1 oua = 4 psi 37
s=lg JS a8 (JLy) a>lg cuoud  |slass 3lastiwl eolle 23
Ay 600,000 600,000 1 3l adle 38
ase 9,900,000 3,300,000 3 )5 AL 39
iy 9,000,000 9,000,000 1| | Susf+ 2808+ 5| Bia sy | 40
a3 22,000,000 22,000,000 1 84 4339 3 s Llia 41
Gl (9 0 42
Cad ¢y 0 43
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L88g5 5 suo U youn A Y eSS SO A S
BARZOEH 03jp youilwT (355U 1403/05/27 : g0

s=lg JS coud (JLy) 3=lg cuoud  |slass ULS b (W TRy
céa | 284,800,000 35,600,000 8 TOw T5 dual s S5 Salia Jay 1
s 6,480,000 270,000 24 T5 <) 2
s 6,720,000 280,000 24 TO <) 3
s 1,440,000 30,000 48 T5 4ddl 4
s 1,440,000 30,000 48 TQ 4adl 5
e 6,600,000 60,000 110 12 o 40 9 7 6
e 2,400,000 40,000 60 8 4= 9 7 7
s 2,500,000 50,000 50 10 o2 9 7 8
284,800,000 Jk J2) &o goz
27,580,000 Jky wlaleio o o>
312,380,000 Jk laleio g Juy glo ez
s=lg JS aoud (JLy) s=lg caoud  |slass s LY
s [ 240,000,000 48,000,000 5 | 80. o i B han sl ¥ of 1
s=lg JS a8 (JLy) a=lg cuoud  |slass o= 23
s&ius | 429,000,000 429,000,000 1 JelS clllaia + il Guls 1
s=lg JS coud (JLy) 3=lg coad  [slaws 19990 ey,
s&iwa [ 511,000,000 511,000,000 1 6.1 (bl Jii) Lgisa 1
s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls 23
s&ius | 237,000,000 237,000,000 1 SO+ kw 7/5 WS sl gl clad sty 1
s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl 23
S 38,400,000 480,000 80 | |o2A | M s G 10 S ap |1
Ha 4,000,000 100,000 40 | 023 | 05 18 6 JesSy pas 2
s 920,000 230,000 4 Qb pa AT S 3
s 1,040,000 260,000 4 (o584) 16 Lsise g 4
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s 300,000 50,000 6 N6 S 5
s 1,680,000 70,000 24 N 10 S 6
s 35,000,000 35,000,000 1 Blis 4 aijg + Ly i 7
s 18,000,000 18,000,000 1 18 i 4 885 Asd 8
s 13,600,000 1,700,000 8 O e 9
s 140,000 70,000 2 FUE Sy S 10
«ld [ 28,000,000 2,000,000 14 77 o550 518 433 11
Cuad ()93 12
141,080,000 Jw JUlo pllSl &l go>
s=lg JS a8 (JLy) a>lg cuous  |slass 1l ol 233
s 1650000 550,000 3 A + Gled )8 Gl 1
S 27,000,000 27,000,000 1 S e Jliags 341 ) 2
s 4500000 2,250,000 2 ol 3
Wiy 380,000 380,000 1 il 20 (54 a8 Sy 4
s 600,000 150,000 4 JiS gl 5 S
A 410,000 410,000 1 S Ak e 6
A 480,000 60,000 8 el Al Gual g 12 0 44 9 7 7
iy 500,000 250,000 2 Sl 5 8
s 7,400,000 7,400,000 1 BEECETY 9
AL 2,200,000 1,100,000 2 Lo - Sfiudly O sl 10
AL 2,200,000 2,200,000 1 1810 ws) 11
i 630,000 210,000 3 b ash A 12
4dls 190,000 190,000 1 SEl gk A 13
s 440,000 110,000 4 iy oS By 14
s 1,160,000 290,000 4 Sigob gl ) 15
(s 4,800,000 4,800,000 1 I 5y gy 16
Ay 4,200,000 4,200,000 1 Gl g o s 17
s 700,000 700,000 1 o - s 3 s 18
e 800,000 400,000 2 i gy K3 s 19
8w | 168,000,000 168,000,000 1 80 Al 93 i Ok (2 5ll 0 20
sse 1,800,000 1,800,000 1 5.5 salS (B 21
s 46,000,000 46,000,000 1 CAL 4 S (g e 2 ¢plS il 22
s 18,500,000 3,700,000 5 S 0 i) - lald didh b 23
s 3,150,000 450,000 7 LED 16 W (Lisi g1 24

22 )12 : dxio




s 300000 30,000 10 DS qual G - 6 &y 25
AL 4,550,000 325,000 14 (Sl 3 ) 26
s 0 70,000 0 ALl Ly Al 27
s 5,000,000 5,000,000 1 O i Sl s 28
s 27,050,000 5,410,000 5 Gl Gl galisy 29
s 22,350,000 4,470,000 5 eyl QG Jid 30
e 2,850,000 570,000 5 g+ i 31
Adls 480,000 80,000 6 WERSIR 32
s=lg JS aoud (JLy) solg cunyd |slass Jaus o SRy
i 74,520,000 2,760,000 27 S 5 Jg) s 33
S 2,640,000 80,000 33 T35 6 px 34
Adls 20,750,000 4,150,000 5 o i = 75 ana 35
Jia 3,300,000 150,000 22 (58 asw g ) 4*1 Jiks 36
S 15,000,000 15,000,000 1 Ok = 4 ps 37
s=lg JS a8 (Jby) s=lg cunsd | slass ylssliwl polle LY
Wiy 600,000 600,000 1 3 i) adle 38
s 9,900,000 3,300,000 3 S O 39
iy 9,000,000 9,000,000 1| | AusE+ a8 + gisa| Blis sy | 40
s 22,000,000 22,000,000 1 84 43j5 S Blia 41
Ciad ¢y g 0 42
G (g 0 43

517,980,000 Jk s jl>5l oly plsl 2lo go=

2.388.440,000 Jy; 8895 S cuud JolS zos>

https://elevator-barzdeh.ir | Telegram: @Elevator_Barzdeh | Instagram: @Elevator.Barzdeh
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s=>lg JS b (Jby) s=lg s |slsss ULS obs a3
<is |- 284,800,000 35,600,000 8 TO 5 T5 dual sl S5 Salia g 1
s 7,560,000 270,000 28 T5 s 2
s 7,840,000 280,000 28 T <) 3
o 1,680,000 30,000 56 T5 il 4
s 1,680,000 30,000 56 TQ 4ail 5
s 6,600,000 60,000 110 12 o 44 5 = 6
s 2,000,000 40,000 50 8 ot 3 & 7
s 3,000,000 50,000 60 10 o84 5 &= 8
284,800,000 Jk) J2y & o>
30,360,000 Jky wlaleio gl go>
315,160,000 Jk laleio g Juy glo ez
s=lg JS aoud (JLy) s=lg caoud  |slass s LY
s | 288,000,000 48,000,000 6 |80 [osSad cli 4 Jlas sk Vsl il 1
s=lg JS a8 (JLy) a=lg cuoud  |slass o= 223
o\ | 429,000,000 429,000,000 1 Jals cililaia + Jola) alS 1
s=lg JS coud (JLy) 3=lg coad  [slaws 19990 ey,
o&iwa [ 511,000,000 511,000,000 1 6.1 Al Jl S giga 1
s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls 233
o&iua [ 237,000,000 237,000,000 1 sS4 kw 7/5 W ga b bl glajd i 1
s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl )3
i 46,080,000 480,000 96 | | o2A | Db Jsls O 10 S ap | 1
S 4,800,000 100,000 48 | 02A | o5 S8 6 Sy as 2
s 920,000 230,000 o8y AT Sy 3
s 1,040,000 260,000 (o58a) 16 Lsise g 4

22 )14 : dxap0




s 300,000 50,000 6 N6 S 5
s 1,680,000 70,000 24 N 10 S 6
s 35,000,000 35,000,000 1 Blis 4 aijg + Ly i 7
s 18,000,000 18,000,000 1 18 s 4 4858 ASL 8
s 13,600,000 1,700,000 8 O e 9
s 140,000 70,000 2 FUE Sy S 10
«ld [ 28,000,000 2,000,000 14 77 o580 08 45 55 11
Cuad ()93 12
149,560,000 Jk JU5 o plsl 2lio 2oz
s=lg JS a8 (JLy) a>lg cuous  |slass 1l ol 233
s 1650000 550,000 3 A + Gled )8 Gl 1
S 27,000,000 27,000,000 1 S e Jliags 341 ) 2
s 4500000 2,250,000 2 ol Al 3
Wiy 380,000 380,000 1 il 20 (54 a8 Sy 4
s 600,000 150,000 4 JiS gl 5 S
A 410,000 410,000 1 S Ak e 6
A 480,000 60,000 8 el Al Gual g 12 0 44 9 7 7
iy 500,000 250,000 2 Sl 5 8
s 7,400,000 7,400,000 1 BEECETY 9
AL 2,200,000 1,100,000 2 Lo - Sfiudly O sl 10
AL 2,200,000 2,200,000 1 1810 ws) 11
i 630,000 210,000 3 b ash A 12
4dls 190,000 190,000 1 SEl gk A 13
s 440,000 110,000 4 iy oS By 14
s 1,160,000 290,000 4 Sigob gl ) 15
s 4,800,000 4,800,000 1 I 5y gy 16
Ay 4,200,000 4,200,000 1 Gl g g e 17
s 700,000 700,000 1 o - s 3 s 18
e 800,000 400,000 2 i gy K3 s 19
8w | 168,000,000 168,000,000 1 80 Al 93 i Ok (2 5ll 0 20
sse 1,800,000 1,800,000 1 5.5 salS (B 21
s 46,000,000 46,000,000 1 CAL 4 S (g e 2 ¢plS il 22
s 22,200,000 3,700,000 6 S 0 i) - lald didh b 23
s 3,600,000 450,000 8 LED 16 W (Lisi g1 24

22 5115 : d=ap0




s 360000 30,000 12 DS qual G - 6 &y 25
AL 4,875,000 325,000 15 (Sl 3 ) 26
a5 700000 70,000 10 Al Ly A 27
s 5,000,000 5,000,000 1 O i Sl s 28
s 32,460,000 5,410,000 6 Gl Gl galisy 29
s 26,820,000 4,470,000 6 eyl QG Jid 30
e 3,420,000 570,000 6 g+ i 31
Ails 640,000 80,000 8 cn g 32
s=lg JS aoud (JLy) solg cunyd |slass Jaus o )
i 85,560,000 2,760,000 31 S 5 Jg) s 33
S 2,880,000 80,000 36 T35 6 psu 34
Adls 20,750,000 4,150,000 5 o i = 75 ana 35
Jia 3,750,000 150,000 25 (oS apn g ) 4*1 Ji\s 36
S 15,000,000 15,000,000 1 Ok = 4 ps 37
s=lg JS a8 (Jby) s=lg cunsd | slass 3jla5tiwl olle LY
Wiy 600,000 600,000 1 3 i) adle 38
s 9,900,000 3,300,000 3 S O 39
iy 9,000,000 9,000,000 1| | AusE+ a8 + gisa| Blis sy | 40
s 22,000,000 22,000,000 1 84 433y 2,8 Blia 41
Ciad ¢y g 0 42
G (g 0 43

545,555,000 Jk sjll oy pUsI 2l 2o

2.475.275,000 Jy; 8895 6 cuud JolS zos>

https://elevator-barzdeh.ir | Telegram: @Elevator_Barzdeh | Instagram: @Elevator.Barzdeh
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BARZDEH

ELEVATOR

29q’5 7 3uo U5 jawo

0332 ygusilwT )5

A Vg guSoS G ay S
1403/05/27 : fa s

(JLy) s=lg cuoud  |slass ULS b (W TRy
«éa | 356,000,000 35,600,000 10 | T9 s TS5 dua s S5l 1
s 8,640,000 270,000 32 T5 sl 2
s 8,960,000 280,000 32 T sl 3
S 1,920,000 30,000 64 T5 4ail 4
s 1,920,000 30,000 64 TQ 4l 5
s 7,800,000 60,000 130 12 242 3 7 6
s 2,800,000 40,000 70 8 o g 5 & 7
S 3,500,000 50,000 70 10 8244 5 7 8

356,000,000 Jk J2y & o>
35,540,000 J&; wlaleio gl o>
391,540,000 d wlileio g Joy &lo o>

s=>lg JS coud (JLy) s=lg cuoud |slaes oy Ay,
s | 336,000,000 48,000,000 7 | 80 [ousfiuus Gl 4 jlas b NG i 1

s=lg JS a8 (JLy) a=lg cuoud  |slas o= 833
o3 | 429,000,000 429,000,000 1 Jals cilblaia gl (S 1

s=lg JS wous (JLy) s=lg cunud | slass 9590 )
o83ua | 511,000,000 511,000,000 1 6.1 el S ygisa 1

s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls )3
o\ | 237,000,000 237,000,000 17 jasoks + kw 7/5 LS gilua b bl glatd of 1

s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl )3
Sa 51,840,000 480,000 108 | | oaA | M s o 10 S ppw | 1
S 5,400,000 100,000 54 | 028 |85 I8 6 JuuSy ppna 2
o 920,000 230,000 Qo8 pa ST Sl 3
s 1,040,000 260,000 (o$554) 16 Lsisa g 4
s 300,000 50,000 N6 a8 S

22 )17 : dxa0




s 1,680,000 70,000 24 Mg 10 28 6
s 35,000,000 35,000,000 1 Blia + 435 + Ly Ligs 7
s 18,000,000 18,000,000 1 18 Sl 4 2 85 8 ast 8
s 13,600,000 1,700,000 8 G Sy e 9
s 140,000 70,000 2 s Jusq (S 10
<& | 28,000,000 2,000,000 14 77 o308 4d 3y 1
Cah ) 9y 12
155,920,000 Jky JBs sl gl go>
s=lg JS a8 (JLy) a=lg cuoud  |slass 1l ol 833
s 1650000 550,000 3 A + Glgd B Gl 1
S 27,000,000 27,000,000 1 S aae Sl 3l ) 2
S 4500000 2,250,000 2 ol AL 3
sy 380,000 380,000 1 il 20 (548 Sy 4
s 600,000 150,000 4 S Jg) 5 oy S
s 410,000 410,000 1 Sy Ak 6
A 480,000 60,000 8 el Al ual G 12 544 9 & 7
Ay 500,000 250,000 2 Sy 5 8
o 7,400,000 7,400,000 1 3 4ma 9
Adld 2,200,000 1,100,000 2 L - SBudly 9 sl 10
AL 2,200,000 2,200,000 1 ¢t 10 s 11
S 630,000 210,000 3 s pash A 12
N 190,000 190,000 1 Sy ash A 13
s 440,000 110,000 4 iy o8 B 14
S 1,160,000 290,000 4 Sigob gl ) 15
s 4,800,000 4,800,000 1 A gy i 16
Ay 4,200,000 4,200,000 1 g g g Supand 17
s 700,000 700,000 1 o - Ghss 3 s 18
s 800,000 400,000 2 Jadsi oS3 i 19
8w | 168,000,000 168,000,000 1 80 4l ga daxi Ol b (o oSualli i 2 20
s 1,800,000 1,800,000 1 s FamalS G 21
sse 46,000,000 46,000,000 1 AL+ L s e 2 cplS pulid 22
s 25,900,000 3,700,000 7 D 80 i) - bl digh b 23
I 4,050,000 450,000 9 LED 16 W lisi &) 24
S 420000 30,000 14 D550 ual S - 6 25
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AL 5,525,000 325,000 17 Seiadly 3 ) 26
e 1400000 70,000 20 adla) Ly yal 27
s 5,000,000 5,000,000 1 O G SilSaa s 28
s 37,870,000 5,410,000 7 iy Gl gilisen 29
s 31,290,000 4,470,000 7 iy G (a8 30
s 3,990,000 570,000 7 S PYRTIg 31
Adla 800,000 80,000 10 G ) 55 32
s=lg JS o (JLy) s=lg cunud | slass Jas o )
S 93,840,000 2,760,000 34 S5 588 JylA 33
s 3,200,000 80,000 40 £3) 6 paw 34
4l | 24,900,000 4,150,000 6 ot ol - 75 and 35
S 4,200,000 150,000 28 (S am i) 4*1 Jils 36
s 15,000,000 15,000,000 1 oua = 4 psi 37
s=lg JS a8 (JLy) a>lg cuoud  |slass 3lastiwl eolle 23
Ay 600,000 600,000 1 3l adle 38
ase 9,900,000 3,300,000 3 )5 AL 39
iy 9,000,000 9,000,000 1| | Susf+ 2808+ 5| Bia sy | 40
a3 22,000,000 22,000,000 1 84 4339 3 s Llia 41
Gl (9 0 42
Cad ¢y 0 43
574,925,000 Jk sjlsdl ol pllsl 2lio 2oz

https://elevator-barzdeh.ir | Telegram: @Elevator_Barzdeh | Instagram: @Elevator.Barzdeh
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BARZDEH
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99q’5 8 3uo Ui jawo

0332 ygusilwT )5

A Vg guSoS G ay S
1403/05/27 : fa s

s=lg JS caoud (JLy) s=lg cuoud  |slass ULS b (W TRy
aia | 427,200,000 35,600,000 12 | T 5 T5 dual sl S5 Saba 1
s 9,720,000 270,000 36 T5 &) 2
s 10,080,000 280,000 36 T sl 3
S 2,160,000 30,000 72 T5 4ail 4
s 2,160,000 30,000 72 T9 4sil 5
s 9,600,000 60,000 160 12 242 3 7 6
s 3,200,000 40,000 80 8 o84 9 7 7
s 3,800,000 50,000 76 10 8244 5 7 8
427,200,000 Jk J2y & o>
40,720,000 J& wlaleio gl go>
467,920,000 Jk wlaleio g Juy glo ez
s=lg JS aoud (JLy) s=lg caoud  |slass s LY
s | 384,000,000 48,000,000 8 | 80 [oufiues Gl + jlas s NG i 1
s=lg JS a8 (JLy) a=lg cuoud  |slas o= 833
s\&3us | 429,000,000 429,000,000 1 Jals cilblaia gl (S 1
s=lg JS coud (JLy) 3=lg coad  [slaws 19590 Ly,
o83ua | 511,000,000 511,000,000 1 6.1 ool JUBh Jsisa 1
s=lg JS a8 (JLy) a=lg cuoud  |slass Oloss gbls )3
o | 237,000,000 237,000,000 1 jsols + kw 7/5 L8 gala b bl glald st 1
s=lg JS o8 (JLy) 3>lg cuoud  [slass Sl )
i 57,600,000 480,000 120 | | 035 | sl ay)sh o 10 Suso e | 1
i 6,000,000 100,000 60 | 023 |05 18 6 Juusy pis 2
o 920,000 230,000 Qo8 pa ST Sl 3
s 1,040,000 260,000 (o$554) 16 Lsisa g 4
s 300,000 50,000 N6 S 5
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s 1,680,000 70,000 24 Mg 10 28 6
s 35,000,000 35,000,000 1 Blia + 435 + Ly Ligs 7
s 18,000,000 18,000,000 1 18 Sl 4 2 85 8 ast 8
s 13,600,000 1,700,000 8 G Sy e 9
s 140,000 70,000 2 HE Jusy S 10
<l | 28,000,000 2,000,000 14 77 o I8 455 g 11
Cah ) 9y 12
162,280,000 Jiv JBS o oSl glo go>
s=lg JS a8 (JLy) a=lg cuoud  |slass 1l ol 833
s 1650000 550,000 3 A + Glgd B Gl 1
S 27,000,000 27,000,000 1 S aae Sl 3l ) 2
S 4500000 2,250,000 2 ol AL 3
sy 380,000 380,000 1 il 20 (548 Sy 4
s 600,000 150,000 4 S Jg) 5 oy S
s 410,000 410,000 1 Sy Ak 6
A 480,000 60,000 8 el Al ual G 12 544 9 & 7
Ay 500,000 250,000 2 Sy 5 8
o 7,400,000 7,400,000 1 3 4ma 9
Adld 2,200,000 1,100,000 2 L = (S 9 sl 10
AL 2,200,000 2,200,000 1 ¢t 10 s 11
S 630,000 210,000 3 s sk A 12
4Adla 190,000 190,000 1 Siadly o sk A 13
s 440,000 110,000 4 iy o8 B 14
S 1,160,000 290,000 4 Sigob gl ) 15
s 4,800,000 4,800,000 1 s gy ) gauias 16
Ay 4,200,000 4,200,000 1 g g g Supand 17
s 700,000 700,000 1 o - Ghss 3 s 18
aus 800,000 400,000 2 el Jy S s 19
8w | 168,000,000 168,000,000 1 80 4l ga daxi Ol b (o oSualli i 2 20
s 1,800,000 1,800,000 1 s FamalS G 21
sse 46,000,000 46,000,000 1 AL+ L s e 2 cplS pulid 22
s 29,600,000 3,700,000 8 D 80 i) - bl digh b 23
I 4,500,000 450,000 10 LED 16 W lisi &) 24
(v 480000 30,000 16 25U ual G - 6 25

22 )1 21 : dxi0




AL 6,175,000 325,000 19 Seiadly 3 ) 26
e 2100000 70,000 30 adla) Ly yal 27
s 5,000,000 5,000,000 1 O G SilSaa s 28
s 43,280,000 5,410,000 8 Gyl glaysalises 29
s 35,760,000 4,470,000 8 iy G (a8 30
s 4,560,000 570,000 8 ESPYE UG 31
Adla 960,000 80,000 12 G ) 55 32
s=lg JS o (JLy) s=lg cunud | slass Jas o )
s« | 104,880,000 2,760,000 38 S5 588 JylA 33
s 3,600,000 80,000 45 £3) 6 paw 34
4l | 33,200,000 4,150,000 8 oua alali = 75 A 35
S 5,100,000 150,000 34 (S am i) 4*1 Jils 36
s 15,000,000 15,000,000 1 oua = 4 psi 37
s=lg JS a8 (JLy) a>lg cuoud  |slass 3lastiwl eolle 23
Ay 600,000 600,000 1 3l adle 38
ase 9,900,000 3,300,000 3 (6 339 Ol 39
iy 9,000,000 9,000,000 1| | Susf+ 2808+ 5| Bia sy | 40
a3 22,000,000 22,000,000 1 84 4335 3 S Blda 41
Gl (9 0 42
Cad ¢y 0 43

611,735,000 Jk

2,802,935,000 Jk

sjll ol pUSI 2l o>

i85 8 i JolS o
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